

UCLA

UCLA Previously Published Works

Title

Quality of life and functioning of Hispanic patients with Major Depressive Disorder before and after treatment

Permalink

<https://escholarship.org/uc/item/6h53z3gd>

Journal

Journal of Affective Disorders, 225

ISSN

0165-0327

Authors

López, Enrique
Steiner, Alexander J
Manier, Karra
[et al.](#)

Publication Date

2018

DOI

10.1016/j.jad.2017.08.031

Peer reviewed



Published in final edited form as:

J Affect Disord. 2018 January 01; 225: 117–122. doi:10.1016/j.jad.2017.08.031.

Quality of Life and Functioning of Hispanic Patients with Major Depressive Disorder Before and After Treatment

Enrique López, PsyD^{1,2}, Alexander J. Steiner, MA^{1,2}, Karra Manier¹, Bryan B. Shapiro, MA¹, Brigitte Vanle, PhD¹, Thomas Parisi, MA¹, Jonathan Dang, MD¹, Tiffany Chang¹, Shaina Ganjian¹, James Mirocha, MS³, Itai Danovitch, MD¹, and Waguih William IsHak, MD, FAPA^{1,2,*}

¹Department of Psychiatry and Behavioral Neurosciences, Cedars-Sinai Medical Center, Los Angeles, California

²Department of Psychiatry and Biobehavioral Sciences, David Geffen School of Medicine, University of California Los Angeles, Los Angeles, California

³Biostatistics Core, Research Institute and Clinical & Translational Science Institute (CTSI), Cedars-Sinai Medical Center, Los Angeles

Abstract

Background—Similar rates of remission from Major Depressive Disorder (MDD) have been documented between ethnic groups in response to antidepressant treatment. However, ethnic differences in functional outcomes, including patient-reported quality of life (QOL) and functioning, have not been well-characterized. We compared symptomatic and functional outcomes of antidepressant treatment in Hispanic and non-Hispanic patients with MDD.

Methods—We analyzed 2,280 nonpsychotic treatment-seeking adults with MDD who received citalopram monotherapy in Level 1 of the Sequenced Treatment Alternatives to Relieve Depression study. All subjects (239 Hispanic, 2,041 non-Hispanic) completed QOL, functioning, and depressive symptom severity measures at entry and exit.

Results—Hispanic participants had significantly worse QOL scores at entry and exit ($p < 0.01$). However, after controlling for baseline QOL, there was no difference between Hispanic and non-

*Corresponding author: Waguih William IsHak, M.D., FAPA, Department of Psychiatry and Behavioral Neurosciences, Cedars-Sinai Medical Center, 8730 Alden Drive, Thalians E-132, Los Angeles, CA 90048. Phone (310) 423-3515, Fax (310) 423-3947, Waguih.IsHak@cshs.org.

Ethical Approval: All authors hereby declare that all experiments have been examined and approved by the appropriate ethics committee and have therefore been performed in accordance with the ethical standards laid down in the 1964 Declaration of Helsinki.

Contributors: Dr. Lopez, Dr. IsHak, Mr. Steiner, and Ms. Manier were responsible for the initiation of this manuscript. Mr. Steiner and Mr. Mirocha conducted all statistical analyses. Mr. Steiner, Mr. Mirocha, Mr. Shapiro and Dr. Vanle worked on manuscript revisions. Mr. Parisi, Ms. Chang, Ms. Ganjian, and Dr. Dang were responsible for proofreading the manuscript. Lastly, Dr. IsHak and Dr. Danovitch were involved in drafting revisions, proofreading, and overseeing the entire project. All authors have approved the final version of this article.

Conflict of Interest: None of the authors have any financial interest or conflicts of interest to report. The authors received no financial support for the research, authorship, and/or publication of this article.

Publisher's Disclaimer: This is a PDF file of an unedited manuscript that has been accepted for publication. As a service to our customers we are providing this early version of the manuscript. The manuscript will undergo copyediting, typesetting, and review of the resulting proof before it is published in its final citable form. Please note that during the production process errors may be discovered which could affect the content, and all legal disclaimers that apply to the journal pertain.

Hispanic patients' QOL at exit ($p = .21$). There were no significant between-group differences at entry or at exit for depressive symptom severity or functioning. Both groups had significant improvements in depressive symptom severity, QOL, and functioning from entry to exit (all p values < 0.01). Patients with private insurance had lower depressive symptom severity, greater QOL, and better functioning at exit compared to patients without private insurance.

Limitations—This study was a retrospective data analysis, and the Hispanic group was relatively small compared to the non-Hispanic group.

Conclusions—Hispanic and non-Hispanic participants with MDD had similar responses to antidepressant treatment as measured by depressive symptom severity scores, quality of life, and functioning. Nevertheless, Hispanic patients reported significantly worse quality of life at entry.

Keywords

Hispanic; Latino/a; Major Depressive Disorder; Quality of Life; Functioning; SSRI

Introduction

Major depressive disorder (MDD) affects 350 million people worldwide and is the leading cause of disability among mental health disorders (World Health Organization, 2016). MDD is associated with greater morbidity and mortality, both as a standalone diagnosis and in the context of other medical illnesses such as coronary heart disease, myocardial infarction and HIV/AIDS (Fawcett, 1993; Leserman, 2008; Pence, 2009; Whooley et al., 2008). Patients with MDD present symptoms of depression and impairments in functioning and quality of life (QOL) (IsHak et al., 2011). QOL is an individual's perception and satisfaction of their psychological, social and physical health (World Health Organization, 1997). In recent years, there has been increased attention on enhancing QOL, as it is strongly correlated with greater MDD symptom severity via socio-demographic factors such as employment, education, race and medical insurance status (Trivedi et al., 2006). Additionally, a number of studies have demonstrated that antidepressant monotherapy improves QOL in MDD, as measured by various validated assessment tools (Chokka & Legault, 2008; Demyttenaere, Andersen, & Reines, 2008; Ishak et al., 2011; Kocsis et al., 2002; Steiner et al., 2017).

The Hispanic population is currently the largest ethnic minority in the United States, with MDD rates similar to non-Hispanic Whites (Murray & Lopez, 1997), although some data suggest a higher prevalence among Hispanics (Blazer, Kessler, McGonagle, & Swartz, 1994; Dunlop, Song, Lyons, Manheim, & Chang, 2003). Despite the high burden of MDD, most studies suggest that Hispanics are less likely than non-Hispanic Whites to seek mental health care and are also less likely to receive appropriate treatment for depression (Simpson, Krishnan, Kunik, & Ruiz, 2007; Young, Klap, Sherbourne, & Wells, 2001). Several studies have identified factors that may predispose Hispanics to disparities for MDD treatment, including language and health literacy barriers, lower cultural acceptability and reduced adherence to antidepressants, and a higher uninsurance rate, as compared to non-Hispanic Whites (Harman, Edlund, & Fortney, 2004; Lagomasino et al., 2005; Miranda & Cooper, 2004; Schraufnagel, Wagner, Miranda, & Roy-Byrne, 2006; Young, Klap, Sherbourne, & Wells, 2001). In fact, the uninsurance rate is 2.6 times higher for Hispanics than non-

Hispanic Whites and was correlated to worse health outcomes (Denavas-Walt, Proctor, & Smith, 2011). Additionally, Hispanics are less likely to have private insurance coverage, and may contribute to MDD treatment disparity, given that publicly insured patients have greater severity of depression, greater functional impairment, and lower life satisfaction, as compared to privately insured patients (Lesser et al., 2005). Furthermore, as the demographics of United States continue to change, there are other sociocultural variables that often contribute to racial marginalization for Hispanics, such as public education disparities (Mordechay & Orfield, 2017). Numerous factors related to education inequality can have a significant influence on patients' ability to gain access to healthcare, and navigate the healthcare system, which may ultimately affect health outcomes in the landscape of American mental-health for Hispanics.

Previous studies examining antidepressant treatment response in Hispanics with MDD demonstrated similar rates of symptom remission compared to other ethnic groups (Lesser et al., 2007; Lesser et al., 2011), but few studies have compared functional outcomes such as QOL and functioning by ethnicity. A secondary analysis reported these functional outcomes among ethnicities, the Combining Medications to Enhance Depression Outcomes (CO-MED) study, which determined that symptom remission, QOL and functioning outcomes were similar among Hispanics, Whites, and Blacks, after treatment with single or combined antidepressant therapy (Lesser et al., 2011). The Sequenced Treatment Alternatives to Relieve Depression (STAR*D) study, which was funded by the National Institutes of Health (NIH), remains the largest prospective randomized, multicenter, multistep clinical trial examining treatment efficacy for nonpsychotic individuals with persistent MDD in outpatient settings to date (Fava et al., 2003; Rush et al., 2004). The STAR*D study also contains the largest number of ethnic minority patients in a single clinical trial for depression, and includes systematic collection of patient-reported QOL, functioning, and depressive symptom severity data. The STAR*D study was designed to ascertain the efficacy of various antidepressant treatments for MDD in patients who did not respond to initial treatment of MDD with citalopram, a first-line selective serotonin reuptake inhibitor (SSRI) antidepressant.

In light of an increasing recognition of QOL as an important clinical outcome, this study presents a formal comparison of QOL, functioning, and depressive symptom outcomes in the STAR*D trial between Hispanic and non-Hispanic individuals with MDD, before and after citalopram monotherapy. Based on the data suggesting similar symptom remission rates between Hispanics and other ethnic groups with MDD treated with antidepressants, we hypothesized that Hispanic patients would have comparable improvements in QOL and functioning in response to antidepressant monotherapy compared to non-Hispanic patients.

Methods

Participants

Any participants who met criteria for remission upon entry to level 1, or who were missing complete entry and exit scores, were excluded from data analyses. Level 1 of the STAR*D study was a fixed-flexible dosing schedule for citalopram monotherapy, with permitted modifications based on treatment response per individual. Any participants who were unable

to achieve remission by 14 weeks advanced to the next subsequent treatment level of the STAR*D study. Our sample included 2,280 participants stratified by ethnicity into Hispanic ($N = 239$) and non-Hispanic ($N = 2,041$) adults, who completed measures assessing depressive symptom severity, QOL and functioning before and after 12–14 weeks of citalopram monotherapy. In order to determine concurrent Axis 1 diagnoses, the Psychiatric Diagnostic Screening Questionnaire was administered (Zimmerman and Mattia, 2001a, b). All participants in the STAR*D study consented to participate in the study. To conduct data analysis for this study, we acquired a certificate from the NIH to access and use the STAR*D Pub Ver3 dataset.

Measures

QOL was assessed using the 16-item QOL Enjoyment Satisfaction Questionnaire-Short Form (Q-LES-Q) (Endicott, Nee, Harrison, & Blumenthal, 1993), which is a self-reported measure that assesses enjoyment and satisfaction across several domains, with higher scores representing better QOL. The WHO acquired community norms and found the mean value of the Q-LES-Q was 78.3 ($SD = 11.3$) (WHOQOL, 1997). Scores that fall within one standard deviation of the community norms (scores ≥ 67) are defined as ‘within-normal’ QOL. Scores less than or equal to two standard deviations below the mean (scores ≤ 55.7) were classified as ‘severely-impaired’ QOL (Schechter et al., 2007). The Q-LES-Q has robust psychometric properties (Cronbach’s $\alpha = 0.90$, test-retest reliability $r = 0.74$) (Endicott et al., 1993). To assess functioning, the Work and Social Adjustment Scale (WSAS) was chosen on the premises of good psychometric properties (Cronbach’s α range = .70–.94, test-retest reliability $r = 0.73$). Scores range from 0 (best possible functioning) to 40 (worst possible functioning) (Mundt, Marks, Shear, & Greist, 2002). Previous work operationally defined within-normal scores on the WSAS as < 10 and scores ≥ 20 as severely-impaired (Mundt, Marks, Shear, & Greist, 2002). Lastly, to quantify depressive symptom severity, the Quick Inventory of Depressive Symptomatology-Self Report (QIDS-SR) (Rush et al., 2003) was selected due to its high internal consistency (Cronbach’s $\alpha = .86$), and convergent validity with the clinician-rated Hamilton Rating Scale for Depression (Hamilton, 1960) and the Beck Depression Inventory-II (Beck, Guth, Steer, & Ball, 1997). The range of scores for the QIDS-SR is between 0 (no depression) and 27 (severe depression); with remission defined as QIDS-SR scores ≤ 5 post-treatment (Rush et al., 2003).

Statistical Analyses

All raw scores (Q-LES-Q, QIDS-SR, WSAS) had approximately normal distributions for the Hispanic and Non-Hispanic group. Sample sizes in each group were sufficiently large enough to overcome normality violations. Continuous variables, means and standard deviations (SD), are represented in the tables, whereas categorical variables include frequencies and percentages. The majority of between-group comparisons were conducted using student’s t -tests for independent samples and all within-group comparisons were conducted using paired samples t -tests. However, two-way ANOVAs were run to test for possible interactions between Hispanic status and private insurance status on all outcome variables at entry and at exit, and additional ANCOVAs controlling for baseline QOL scores for each outcome measure at exit were also conducted. Effect size was measured by

calculating Cohen's d where values were represented as .2 (small), .5 (medium), and .8 (large) effect sizes (Cohen, 1988, Kraemer et al., 2011). While Cohen's d values assessed treatment effects from pre- to post-treatment, we used Equation 3 from Dunlap and colleagues (1996) in order to correct for Cohen's d for correlated designs. To assess between-group differences of categorical variables, we used Chi-square test or Fisher exact test when necessary ($N \leq 10$ per cell). We used McNemar's test for related proportions to compare within-group entry to exit frequencies. The significance level was adjusted of 0.01 for all outcome variables, in order to control the type 1 error rate and to correct for the number of statistical tests applied. Data analysis in the current study was run using Version 22 of IBM Statistical Package for the Social Sciences software (IBM Corp., Armonk, NY).

Results

Patient Demographic and Clinical Characteristics

Demographic characteristics of Hispanic ($n = 239$) and non-Hispanic ($n = 2,041$) patients with MDD are presented in Table 1. The non-Hispanic group was 77.1% Caucasian, 17.8% African-American, 2.5% Asians 1.7% American Indian or Alaskan Native, 0.8% Native Hawaiian or Pacific Islander and 0.1% mixed ethnicity but not Hispanic. Hispanics were more commonly female and were less likely to be college graduates as compared to non-Hispanics. Age, employment rate, and percentage living with a spouse/partner were similar between the two groups. Private insurance status data was available for 98.3% of our sample, and 53.4% of the our studies population had private insurance (as seen in Table 1). Of note, non-Hispanic patients (55.3%) were significantly more likely to have private insurance compared to Hispanic patients (37.4%; $P = <.01$).

Comparisons of Depressive Symptom Severity, QOL and Functioning among Hispanics and non-Hispanics with MDD, and Interactive Effects of Private Insurance Status

Entry scores (level 1) of the STAR*D Trial in depressive symptom severity, QOL and functioning are reported among Hispanics and non-Hispanics as presented in Table 2. At study entry, QOL was significantly lower in Hispanics ($P < 0.01$) while there were no significant between-group differences for depressive symptom severity or functioning. After treatment, both Hispanic and non-Hispanic participants had significant improvements in all measures (all P values < 0.01 , Cohen's d value range = .68 – 1.05). However, at study exit, QOL ($P < 0.01$) remained significantly lower among Hispanics, while depressive symptom severity and functioning were similar ($P = 0.06$ and $P = 0.05$, respectively) as compared to non-Hispanics. Given the fact that baseline QOL was significantly lower for the Hispanic group, we conducted additional ANCOVAs controlling for baseline QOL for all outcome variables at exit. After controlling for baseline QOL, the findings remained the same for depressive symptom severity and functioning ($P = 0.65$ and $P = 0.76$, respectively), as there were no significant differences between Hispanics and non-Hispanics. Yet, after controlling for baseline QOL, there was no longer a significant difference between Hispanics and non-Hispanics for QOL at exit ($P = .21$).

As non-Hispanics were significantly more likely to have private insurance, we conducted two-way ANOVAs to test for main effects, and interactions between Hispanic status and

private insurance status; ANOVAs were conducted for all outcome variables (QOL, functioning, depressive symptom severity), at entry and exit. For depressive symptom severity, there were no significant interactions at entry or exit, but there was a main effect for private insurance status, such that individuals with private insurance had significantly lower depressive symptom severity at exit ($P < .01$, partial Eta-squared = .01). For QOL at entry, there was a significant interaction, such that non-Hispanic individuals with private insurance had the highest QOL scores ($P < .01$), but there was no significant interaction for QOL at exit. There was, however, a main effect for private insurance status, such that individuals with private insurance had significantly higher QOL at exit ($P < .01$, partial Eta-squared = .01). Last, there were no significant interactions at entry or exit for functioning, but there was a main effect for private insurance status, such that individuals with private insurance had significantly higher functioning at exit ($P < .01$, partial Eta-squared = .01).

Percentages of Participants with Within-Normal QOL and Functioning Before and After Treatment

Table 3 depicts the percentages of participants scoring 'within-normal' QOL (Q-LES-Q ≥ 67) and functioning (WSAS < 10) at entry and exit for the overall study population. At study entry, the proportion of Hispanic and non-Hispanic participants with within-normal QOL and functioning did not differ significantly. Both groups had significant increases in the percentage of patients 'within-normal' QOL and functioning. The only significant difference was at study exit, non-Hispanics had a significantly higher percentage of participants with within-normal QOL (35.0%) as compared to Hispanics (25.9%).

Percentages of Participants with Severely Impaired QOL and Functioning Before and After Treatment

The percentages of participants with severely-impaired QOL and functioning at entry and exit are displayed in Table 4. At study entry, 85.6% of the total participants in the study reported severely-impaired QOL, while 65.8% reported severely-impaired functioning. The percentage of patients reporting severely-impaired QOL and functioning did not differ between Hispanics and non-Hispanics at study entry and exit. Both groups had statistically significant improvements in the percentage reporting severely-impaired QOL and functioning after treatment ($P < 0.01$).

Discussion

In this retrospective secondary data analysis of the STAR*D trial, we hypothesized that Hispanics with MDD would respond similarly to antidepressant monotherapy as non-Hispanics with MDD. Both groups demonstrated moderate to strong improvements after treatment in severity of depressive symptoms, QOL, and functioning. Hispanics had a lower QOL at study entry, but not at exit (after controlling for baseline QOL), compared to non-Hispanics. After treatment, Hispanics also exhibited significantly lower proportions in the within-normal QOL range compared to non-Hispanics.

The findings of this study suggest that Hispanic individuals respond favorably to antidepressant treatment; however, disparities in health care access and utilization among

Hispanics may limit efforts to reduce the burden of major depressive disorder in this population. This is particularly concerning since MDD is equally, if not more prevalent, among minority groups as compared to non-minorities (Blazer, Kessler, McGonagle, & Swartz, 1994; Dunlop, Song, Lyons, Manheim, & Chang, 2003; Murray & Lopez, 1997). These disparities might explain the relatively lower QOL among Hispanic patients at study entry.

Lesser and colleagues (2005) were the first to report on the relationship between health insurance and a number of treatment outcomes (e.g., depressive symptom severity, life satisfaction, and functioning) at entry to Level 1 of the STAR*D study. We were also able to report on the findings of the observed relationship between QOL, depressive symptom severity, and functioning at entry and at exit of Level 1. Our findings are largely consistent with the previous efforts of Lesser and colleagues (2005), as there was a significant interaction between Hispanic status and private insurance status, such that non-Hispanic individuals with private insurance had the greatest QOL scores at entry, and in general, individuals with private health insurance had lower depressive symptom severity, greater QOL, and better functioning at exit compared to patients without private insurance. While there are a multitude of factors that could explain this interaction, the results certainly beg the question of whether or not access to private insurance may influence patient-reported QOL. Future investigators should certainly continue to examine this relationship, as well as other factors that place Hispanic patients at risk for worse QOL compared to other ethnic cohorts.

Whereas the countless reasons for our observed findings remains speculative, and any number of theoretical explanations without objective data would be conjecture, we greatly encourage future researchers to examine sociocultural variables that explain some of the variance in treatment responses and outcomes in antidepressant clinical trials. We strongly encourage future researchers to examine the role that demographic characteristics, particularly those that serve as proxies for marginalization and inequality, play in clinical trials. As these factors continue to be identified, interventions that directly target these factors, or help to attenuate the effect of such variables, can be applied in clinical practice. For example, while we know that pharmacotherapy in conjunction with psychotherapy has the greatest efficacy in reducing depressive symptom severity, we have yet to routinely incorporate standardized psychotherapy interventions into clinical trials. In particular, researchers should strive to incorporate interventions that are culturally-informed and culturally sensitive, as well as validated among various ethnic cohorts. While Level 1 of the STAR*D study did not include psychotherapy, Level 2 did, in order to augment treatment response. As such, there remains a number of research questions that have yet to be answered with the STAR*D dataset, which could further elucidated important relationships.

The cultural perspective on antidepressants and treatment adherence may have contributed to the lower QOL exit response (when examining proportions of patients with within-normal scores at exit), despite equivalent treatment efficacy. Conversely, after controlling for baseline QOL, there was no significant difference between Hispanics and non-Hispanics on QOL at exit. Another explanation for the relatively lower exit QOL in Hispanics is inadequate antidepressant response, under the assumption that more severely-impaired QOL

at study entry can allow for more clinical improvement. In contrast, the CO-MED study found higher Quality of Life Inventory (QOLI) scores among Hispanics as compared to Blacks and Whites, at both baseline and at exit (28 weeks) of antidepressant treatment, though the Hispanic group had a markedly higher employment rate at baseline than the other groups (Lesser et al., 2011). However, our findings of equivalent improvement in symptom remission, QOL and functioning in Hispanics corroborates similar observations in the CO-MED study. Outside of this explanation, there may be other biological explanations for Hispanics worse treatment responses, and the field of pharmacogenetics is a promising area of study that may help to elucidate the relationship between the genetics of homogeneous cohorts and treatment responses. While this is largely outside of the scope of the current study, we surely encourage future researchers to examine the role of pharmacogenetics in clinical trials for depression. In relation, we find it interesting that in the face of equivalent depressive symptom severity at entry and exit, Hispanic patients had worse QOL at entry to the study. As depressive symptom severity often has a direct negative effect on QOL, we are left to wonder what explains Hispanics report of lower QOL at entry to the study, or even the lower proportions of Hispanic patients able to achieve within-normal QOL at exit to the study, compared to non-Hispanic patients. Thus, findings like this support the assumption that there are other factors, likely psychosocial ones, which are negatively influencing Hispanic patients' report of QOL. Again, we hope to underline the importance of future investigators attempts to characterize the consequences of marginalization, inequality, and disparity from a biopsychosocial theoretical framework.

Collaborative interventions such as educational sessions, telephone sessions, family involvement and counseling are reportedly highly effective in Hispanic patients (Dwight-Johnson et al., 2010); however, it would be of interest to explore whether combined pharmacologic and non-pharmacologic treatment would result in similar QOL and functioning scores at study exit among Hispanics and non-Hispanics with MDD. Since Hispanics are less likely to receive both pharmacologic and non-pharmacologic treatments for depression as compared to Caucasians (Lagomasino et al., 2005; Schraufnagel, Wagner, Miranda, & Roy-Byrne, 2006), addressing disparities in access and care remain a crucial means of reducing the burden of MDD within this group.

These findings are consistent with previous clinical trials reporting little to no difference in treatment outcomes between minorities and predominantly Caucasian groups receiving antidepressant therapy for MDD (Lesser et al., 2007; Lesser et al., 2011; Lewis-Fernandez et al., 2006; Rollman et al., 2002; Roy-Byrne, Perera, Pitts, & Christi, 2005). A limitation of previous randomized controlled trials is the exclusion of patients with comorbid psychiatric disorders, severe medical illness, or recent drug or alcohol use. This practice may have limited generalizability to patients with MDD who so often present with comorbid conditions. By contrast, the STAR*D trial was far more inclusive and recruited patients largely from primary care settings. It is important to note that our analyses compared Hispanics to a non-Hispanic cohort comprised not only of Caucasians, but also other minority groups, including African-Americans. The benefit of this approach was that it allowed to some extent, for the comparison of the ethno-cultural factors that may predispose disparities in treatment outcomes between Hispanics and the general population.

Study Limitations and Strengths

There are several limitations of the present study. Although the STAR*D study is one of the largest of its kind, the lack of a control group and sole reliance on self-reported questionnaires for depression, QOL, and functioning are natural limitations. However, the STAR*D study was designed to evaluate treatment efficacy of a variety of pharmacological agents among patients with recurring depressive episodes, and as such, a control group was not necessitated. Although the WSAS, Q-LES-Q, and QIDS-SR have well established validity, a clinician's assessment would have strengthened the findings. Another limitation related to the STAR*D study is the concern that there was no formal monitoring of medication adherence, or dispersion recording devices used by participants. As such, this is a potential confound, as some patients may not have been fully adherent to their medication regimens, even in the context of convincing reinforcement to continue medication adherence by their treating physicians. In relation, as a fixed-flexible dosing schedule was employed, it is difficult to compare dose-dependent treatment responses with STAR*D data. Additionally, Hispanics comprised only 10% of this study population, but encompass 16% of the U.S. population (U.S. Census Bureau, 2010). While the comparison of a relatively small sample of Hispanic patients ($n = 239$) to a larger sample of non-Hispanic patients ($n = 2,041$) poses some inherent risks, all of the data remained sufficiently large enough to retain adequate power, and all outcome variables had normal distributions; all normality assumptions were met, even in the smaller group. Regarding demographic differences, previous STAR*D investigators reported that patients who were lower income, younger, less educated, and African-American were more likely to drop out of the STAR*D study (Warden et al., 2007). Thus, there is some concern pertaining to attrition, such that the external validity of the STAR*D sample may not generalize to the whole United States population; future researchers should continue to examine the contributing characteristics to attrition in SSRI clinical trials. Strengths of this study include that the STAR*D trial contains the largest number of ethnic minority patients in a clinical trial for depression, and employs validated assessments of depressive symptoms and QOL and functioning. Considering the relatively few inclusion and exclusion criteria of the trial, these findings are highly generalizable to the general population.

Conclusion

Our analysis highlights the importance for clinicians and researchers to incorporate patient-reported functional outcomes such as QOL and functioning when evaluating the efficacy of depression interventions. Hispanics and non-Hispanics showed significant improvements in symptoms of depression, QOL and functioning after treatment with citalopram for MDD, despite relatively low QOL at study entry and exit (but not after controlling for baseline QOL). The Hispanic population with MDD is a high-risk population for low QOL, and further research is needed to identify the reasons for poor QOL, and implementation of treatments that positively affect the QOL among the depressed Hispanic population; this is particularly critical, as Hispanics had worse QOL at entry. In addition to these findings, analysis revealed that Hispanic patients were less likely to have private insurance compared to non-Hispanic patients. Furthermore, patients with private insurance had lower depressive symptom severity, greater QOL, and better functioning at exit compared to patients without

private insurance. There was also a significant interaction, such that non-Hispanic individuals with private insurance had the highest QOL scores at entry. Additionally, the observed efficacy of antidepressants among Hispanics in this study provides compelling reason to address the disparity in access to healthcare among Hispanics and other minority groups.

Acknowledgments

Role of funding source: Data used in the preparation of this article were obtained from the limited access datasets distributed from the NIH-supported “Sequenced Treatment Alternatives to Relieve Depression” (STAR*D) study. The study was supported by NIMH Contract #N01MH90003 to the University of Texas Southwestern Medical Center. The ClinicalTrials.gov identifier is NCT00021528. This manuscript reflects the views of the authors and may not reflect the opinions or views of the STAR*D Study Investigators or the NIH. None of the authors have any financial interest or conflicts of interest to report. The authors received no financial support for the research, authorship, and/or publication of this article.

References

- Beck AT, Guth D, Steer RA, Ball R. Screening for major depression disorders in medical inpatients with the Beck Depression Inventory for Primary Care. *Behav Res Ther.* 1997; 35:785–791. [PubMed: 9256522]
- Blazer DG, Kessler RC, McGonagle KA, Swartz MS. The prevalence and distribution of major depression in a national community sample: the National Comorbidity Survey. *Am J Psychiatry.* 1994; 151:979–986. [PubMed: 8010383]
- Chokka P, Legault M. Escitalopram in the treatment of major depressive disorder in primary-care settings: an open-label trial. *Depress Anxiety.* 2008; 25:E173–181. [PubMed: 19006260]
- Cohen, J. Statistical power analysis for the behavioral sciences. 2. Hillsdale, New Jersey: 1988.
- Demyttenaere K, Andersen HF, Reines EH. Impact of escitalopram treatment on Quality of Life Enjoyment and Satisfaction Questionnaire scores in major depressive disorder and generalized anxiety disorder. *Int Clin Psychopharmacol.* 2008; 23:276–286. [PubMed: 18703937]
- DeNavas-Walt, C., Proctor, B., Smith, J. Current Population Reports Series P60. 2011. Income, poverty, and health insurance coverage in the United States: 2010.
- Dunlap WP, Cortina JM, Vaslow JB, Burke MJ. Meta-analysis of experiments with matched groups or repeated measures designs. *Psychol Methods.* 1996; 1:170–177.
- Dunlop DD, Song J, Lyons JS, Manheim LM, Chang RW. Racial/ethnic differences in rates of depression among preretirement adults. *Am J Public Health.* 2003; 93:1945–1952. [PubMed: 14600071]
- Dwight-Johnson M, Lagomasino IT, Hay J, Zhang L, Tang L, Green JM, Duan N. Effectiveness of collaborative care in addressing depression treatment preferences among low-income Latinos. *Psychiatr Serv.* 2010; 61:1112–1118. [PubMed: 21041350]
- Endicott J, Nee J, Harrison W, Blumenthal R. Quality of Life Enjoyment and Satisfaction Questionnaire: a new measure. *Psychopharmacol Bull.* 1993; 29:321–326. [PubMed: 8290681]
- Fava M, Rush AJ, Trivedi MH, Nierenberg AA, Thase ME, Sackeim HA, ... Kupfer DJ. Background and rationale for the Sequenced Treatment Alternatives to Relieve Depression (STAR*D) study. *Psychiatr Clin North Am.* 2003; 26:457–494. [PubMed: 12778843]
- Fawcett J. The morbidity and mortality of clinical depression. *Int Clin Psychopharmacol.* 1993; 8:217–220. [PubMed: 8277138]
- Hamilton M. A rating scale for depression. *J Neurol Neurosurg Psychiatry.* 1960; 23:56–62. [PubMed: 14399272]
- Harman JS, Edlund MJ, Fortney JC. Disparities in the adequacy of depression treatment in the United States. *Psychiatr Serv.* 2004; 55:1379–1385. [PubMed: 15572565]
- Ishak WW, Ha K, Kapitaniski N, Bagot K, Fathy H, Swanson B, Vilhauer J, Balayan K, Bolotaulo NI, Rapaport MH. The impact of psychotherapy, pharmacotherapy, and their combination on quality of life in depression. *Harv Rev Psychiatry.* 2011; 19:277–289. [PubMed: 22098324]

- Kocsis JH, Schatzberg A, Rush AJ, Klein DN, Howland R, Gniwesch L, Davis SM, Harrison W. Psychosocial outcomes following long-term, double-blind treatment of chronic depression with sertraline vs placebo. *Arch Gen Psychiatry*. 2002; 59:723–728. [PubMed: 12150648]
- Kraemer HC, Frank E, Kupfer DJ. How to assess the clinical impact of treatments on patients, rather than the statistical impact of treatments on measures. *Int J Methods Psychiatr Res*. 2011; 20:63–72. [PubMed: 21520328]
- Lagomasino IT, Dwight-Johnson M, Miranda J, Zhang L, Liao D, Duan N, Wells KB. Disparities in depression treatment for Latinos and site of care. *Psychiatr Serv*. 2005; 56:1517–1523. [PubMed: 16339612]
- Leserman J. Role of depression, stress, and trauma in HIV disease progression. *Psychosom Med*. 2008; 70:539–545. [PubMed: 18519880]
- Lesser IM, Castro DB, Gaynes BN, Gonzalez J, Rush AJ, Alpert JE, Trivedi M, Luther JF, Wisniewski SR. Ethnicity/race and outcome in the treatment of depression: results from STAR*D. *Med Care*. 2007; 45:1043–1051. [PubMed: 18049344]
- Lesser IM, Leuchter AF, Trivedi MH, Davis LL, Wisniewski SR, Balasubramani GK, ... Rush AJ. Characteristics of insured and uninsured outpatients with depression in STAR(*)D. *Psychiatr Serv*. 2005; 56:995–1004. [PubMed: 16088018]
- Lesser IM, Zisook S, Gaynes BN, Wisniewski SR, Luther JF, Fava M, Khan A, McGrath P, Warden D, Rush AJ, Trivedi M. Effects of race and ethnicity on depression treatment outcomes: the CO-MED trial. *Psychiatr Serv*. 2011; 62:1167–1179. [PubMed: 21969643]
- Lewis-Fernandez R, Blanco C, Mallinckrodt CH, Wohlreich MM, Watkin JG, Plewes JM. Duloxetine in the treatment of major depressive disorder: comparisons of safety and efficacy in U.S. Hispanic and majority Caucasian patients. *J Clin Psychiatry*. 2006; 67:1379–1390. [PubMed: 17017824]
- Miranda J, Cooper LA. Disparities in care for depression among primary care patients. *J Gen Intern Med*. 2004; 19:120–126. [PubMed: 15009791]
- Mordechay K, Orfield G. Demographic Transformation in a Policy Vacuum: The Changing Face of U.S. Metropolitan Society and Challenges for Public Schools. *The Educational Forum*. 2017; 81:193–203.
- Mundt JC, Marks IM, Shear MK, Greist JH. The Work and Social Adjustment Scale: a simple measure of impairment in functioning. *Br J Psychiatry*. 2002; 180:461–464. [PubMed: 11983645]
- Murray CJ, Lopez AD. Alternative projections of mortality and disability by cause 1990–2020: Global Burden of Disease Study. *Lancet*. 1997; 349:1498–1504. [PubMed: 9167458]
- Pence BW. The impact of mental health and traumatic life experiences on antiretroviral treatment outcomes for people living with HIV/AIDS. *J Antimicrob Chemother*. 2009; 63:636–640. [PubMed: 19153077]
- Rollman BL, Hanusa BH, Belnap BH, Gardner W, Cooper LA, Schulberg HC. Race, quality of depression care, and recovery from major depression in a primary care setting. *Gen Hosp Psychiatry*. 2002; 24:381–390. [PubMed: 12490339]
- Roy-Byrne PP, Perera P, Pitts CD, Christi JA. Paroxetine response and tolerability among ethnic minority patients with mood or anxiety disorders: a pooled analysis. *J Clin Psychiatry*. 2005; 66:1228–1233. [PubMed: 16259535]
- Rush AJ, Fava M, Wisniewski SR, Lavori PW, Trivedi MH, Sackeim HA, ... Group SDI. Sequenced treatment alternatives to relieve depression (STAR*D): rationale and design. *Control Clin Trials*. 2004; 25:119–142. [PubMed: 15061154]
- Rush AJ, Trivedi MH, Ibrahim HM, Carmody TJ, Arnow B, Klein DN, Markowitz JC, Ninan PT, Kornstein S, Manber R, Thase ME, Kocsis JH, Keller MB. The 16-Item Quick Inventory of Depressive Symptomatology (QIDS), clinician rating (QIDS-C), and self-report (QIDS-SR): a psychometric evaluation in patients with chronic major depression. *Biol Psychiatry*. 2003; 54:573–583. [PubMed: 12946886]
- Schechter D, Endicott J, Nee J. Quality of life of ‘normal’ controls: association with lifetime history of mental illness. *Psychiatry Res*. 2007; 152:45–54. [PubMed: 17363070]
- Schraufnagel TJ, Wagner AW, Miranda J, Roy-Byrne PP. Treating minority patients with depression and anxiety: what does the evidence tell us? *Gen Hosp Psychiatry*. 2006; 28:27–36. [PubMed: 16377362]

- Simpson SM, Krishnan LL, Kunik ME, Ruiz P. Racial disparities in diagnosis and treatment of depression: a literature review. *Psychiatr Q*. 2007; 78:3–14. [PubMed: 17102936]
- Steiner AJ, Boulos N, Mirocha J, Wright SM, Collison K, IsHak WW. Quality of Life and Functioning in Comorbid Posttraumatic Stress Disorder and Major Depressive Disorder Following Treatment with Citalopram Monotherapy. *Clin Neuropharmacol*. 2017; 40:16–23. [PubMed: 27764051]
- Trivedi MH, Rush AJ, Wisniewski SR, Warden D, McKinney W, Downing M, ... Sackeim HA. Factors associated with health-related quality of life among outpatients with major depressive disorder: a STAR*D report. *J Clin Psychiatry*. 2006; 67:185–195. [PubMed: 16566612]
- U.S. Census Bureau. The Hispanic population: 2010. Washington, DC: U.S. Department of Commerce; 2010. Retrieved from <http://www.census.gov/prod/cen2010/briefs/c2010br-04.pdf>
- Warden D, Trivedi MH, Wisniewski SR, Davis L, Nierenberg AA, Gaynes BN, ... Rush AJ. Predictors of attrition during initial (citalopram) treatment for depression: a STAR*D report. *Am J Psychiatry*. 2007; 164:1189–1197. [PubMed: 17671281]
- Whooley MA, de Jonge P, Vittinghoff E, Otte C, Moos R, Carney RM, Ali S, Dowray S, Na B, Feldman MD, Schiller NB, Browner WS. Depressive symptoms, health behaviors, and risk of cardiovascular events in patients with coronary heart disease. *JAMA*. 2008; 300:2379–2388. [PubMed: 19033588]
- World Health Organization. Depression Fact Sheet. 2017. Retrieved from: <http://www.who.int/mediacentre/factsheets/fs369/en/>
- World Health Organization. WHOQOL Measuring quality of life. 1997. Retrieved from: www.who.int/mental_health/media/68.pdf
- Young AS, Klap R, Sherbourne CD, Wells KB. The quality of care for depressive and anxiety disorders in the United States. *Arch Gen Psychiatry*. 2001; 58:55–61. [PubMed: 11146758]
- Zimmerman M, Mattia JI. The Psychiatric Diagnostic Screening Questionnaire: development, reliability and validity. *Compr Psychiatry*. 2001a; 42:175–189. [PubMed: 11349235]
- Zimmerman M, Mattia JI. A self-report scale to help make psychiatric diagnoses: the Psychiatric Diagnostic Screening Questionnaire. *Arch Gen Psychiatry*. 2001b; 58:787–794. [PubMed: 11483146]

Highlights

1. Hispanics and non-Hispanics reported similar depression at entry and exit.
2. Hispanic had worse QOL at entry and exit (not after controlling for baseline QOL).
3. Significant improvements in QOL, functioning, and depression following treatment.
4. Hispanics were less likely to have private insurance compared to non-Hispanics.

Table 1Baseline Characteristics of Participants with Major Depressive Disorder at level 1 Entry of the STAR^{*} D Trial

	ALL	Hispanic	Non-Hispanic	p [*]
Number of Subjects	2,280	239	2,041	-
Age Range	18.1 – 75.6	18.4 – 75.0	18.1 – 75.6	
Mean Age (SD)	42.6 (13.0)	42.0 (12.7)	42.7 (13.1)	0.45
Female	1,431 (62.8%)	179 (74.9%)	1,252 (61.4%)	<0.01
College Graduate	685 (30.1%)	37 (15.5%)	648 (31.8%)	<0.01
Employed	1,301 (57.1%)	125 (52.3%)	1,176 (57.6%)	0.12
Living with Spouse/Partner	1,046 (45.9%)	116 (48.5%)	930 (45.6%)	0.39
Private Health Insurance	1196 (53.4%)	88 (37.4%)	1108 (55.3%)	<0.01

A p value of < 0.01 was considered indicative of statistical significance.

* Based on independent samples t-test.

Table 2

Comparisons of Depressive Symptom Severity, QOL and Functioning among Participants with Major Depressive Disorder Before and After Antidepressant Treatment

Depressive Symptom Severity (QIDS-SR)	N	QIDS-SR Entry	QIDS-SR Exit	Mean Change	p*	Effect Size [†]
ALL	2,280	15.6 (4.8)	9.5 (6.5)	-6.1 (6.5)	<0.01	1.05
Hispanic	239	16.3 (4.8)	10.2 (6.4)	-6.0 (6.3)	<0.01	1.05
Non-Hispanic	2,041	15.6 (4.8)	9.5 (6.5)	-6.1 (6.5)	<0.01	1.05
p [‡]	-	0.02	0.06	0.84	-	-
QOL (Q-LES-Q)	N	Q-LES-Q Entry	Q-LES-Q Exit	Mean Change	p*	Effect Size [†]
ALL	2,280	41.5 (14.2)	56.6 (21.9)	15.1 (19.4)	<0.01	0.78
Hispanic	239	38.2 (14.9)	52.6 (21.4)	14.4 (18.9)	<0.01	0.76
Non-Hispanic	2,041	41.9 (14.1)	57.0 (22.0)	15.2 (19.5)	<0.01	0.79
p [‡]	-	<0.01	<0.01	0.57	-	-
Functioning (WSAS)	N	WSAS Entry	WSAS Exit	Mean Change	p*	Effect Size [†]
ALL	2,280	23.8 (8.9)	15.5 (12.1)	-8.3 (11.2)	<0.01	0.77
Hispanic	239	24.3 (9.8)	16.9 (11.7)	-7.4 (12.0)	<0.01	0.68
Non-Hispanic	2,041	23.8 (8.8)	15.3 (12.1)	-8.4 (11.2)	<0.01	0.78
p [‡]	-	0.39	0.05	0.16	-	-

Abbreviations: QIDS-SR = Quick Inventory of Depressive Symptomatology – Self Report; WSAS = Work and Social Adjustment Scale; Q-LES-Q = QOL, Enjoyment, and Satisfaction Questionnaire – Short Form.

A p value of < 0.01 was considered indicative of statistical significance.

* Within-group p values comparing entry to exit, based on McNemar Test for related proportions.

[†] Effect Sizes with Dunlap correction (Dunlap et al., 1996).

[‡] Between-group p values, based on independent samples t-test.

Table 3

Proportions of Participants with Within-Normal QOL and Functioning Before and After Antidepressant Treatment

	N	Within-Normal QOL, Entry (%)	Within-Normal QOL, Exit (%)	<i>P</i> [*]
ALL	2,280	3.2	34.0	<0.01
Hispanic	239	1.7	25.9	<0.01
Non- Hispanic	2,041	3.4	35.0	<0.01
<i>p</i> [†]	-	0.17	<0.01	-
Functioning (WSAS)	N	Within-Normal Functioning, Entry (%)	Within-Normal Functioning, Exit (%)	<i>P</i> [*]
ALL	2,280	6.7	38.5	<0.01
Hispanic	239	9.2	33.5	<0.01
Non-Hispanic	2,041	6.4	39.1	<0.01
<i>p</i> [†]	-	0.10	0.09	-

Abbreviations: Q-LES-Q = QOL, Enjoyment, and Satisfaction Questionnaire – Short Form; WSAS = Work and Social Adjustment Scale.

A *p* value of < 0.01 was considered indicative of statistical significance.

Within-normal QOL and functioning were defined as Q-LES-Q ≥ 67 and WSAS < 10, respectively.

^{*} Within-group significance values comparing entry to exit, based on McNemar Test for related proportions.

[†] Between-group significance values were calculated with Chi-square test or Fisher exact test.

Table 4

Proportions of Participants with Severely Impaired QOL and Functioning Before and After Treatment

QOL (Q-LES-Q)	N	Severely-Impaired QOL, Entry (%)	Severely-Impaired QOL, Exit (%)	P*
ALL	2,280	85.6	50.5	<0.01
Hispanic	239	89.5	56.1	<0.01
Non-Hispanic	2,041	85.1	49.8	<0.01
<i>p[†]</i>	-	0.07	0.07	-
Functioning (WSAS)	N	Severely-Impaired Functioning, Entry (%)	Severely-Impaired Functioning, Exit (%)	P*
ALL	2,280	65.8	36.2	<0.01
Hispanic	239	68.2	37.7	<0.01
Non-Hispanic	2,041	65.5	36.0	<0.01
<i>p[†]</i>	-	0.40	0.62	-

Abbreviations: Q-LES-Q = QOL, Enjoyment, and Satisfaction Questionnaire – Short Form; WSAS = Work and Social Adjustment Scale.

A p value of < 0.01 was considered indicative of statistical significance.

Severely-impaired QOL and functioning were defined as Q-LES-Q < 55.7 and WSAS > 20, respectively.

* Within-group significance values comparing entry to exit, based on McNemar Test for related proportions.

[†] Between-group significance values were calculated with Chi-square test or Fisher exact test.